





- < © N~ o

.11



68km 1,300km

3 3
JR 9

30
2,000mm
8
1/780
1/9,000

640m

83 11

126 178 312

1,500 ) 1,000 1,500

14

1/100 17300



6,300ha

1,940,300kw
BOD75% 3.5mg/1 2mg/1

1.0mg/L



Al

1,300k

68km

14

50k

R
EOE R | —
ERDEES
gzwns| N
xEmaE| @

4.4

8334




2,500ha

5
1
(m3/s)
3 0.2763
23 5.545 1,000ha
79 1,500ha
3 0.0795
108 5.9008

0.08m3/s, 1%

0.28m3/s, 5%

5.55m3/s, 94%

(m3/5s)

8.00

2.00

1.05

0.83

594.00




0093
0178
1699
0680
0382
0.0552 0.0425
0.0510 0.0127
1019 00850
0272 0.0340
0850 0.2549
0765 =
0170 0.2549
0833 00297
0.1130 0067
0.0340 02803
0.1019 00680
0.1189 i
00212
00195
0.1699
,
3568
0595
6372
0153
2039
o 0.1699
0722 =
0204 00544
1274 Ll
0934 <= > o
1230 ST ol
0013 o1z
| 00— >
o7 e D CUNR S
00056
00012 € ——
00005 <
) S S >
00132
00047 z=——————
00034
00390
00100
00200 —_——
00330 R .—
00850 0.0425 ?
I 0.2030 I
] ST > T Tomw]
r—>
—>
0.0013
00119
0.0024
0.0038
8> 00590
<@ 0.0510
0.0620
00290
0.0440 [ : I
0490 19454 1
0297 | | | | 02550 5 1 00462
0213 | | I | 01860 g.gsgg
0850
> .2124 € P— — — — — — — > 23447
0.1019 ——
01270
0.1104
07111
06340 <------
R
0.1827
0.1380 [/\]
0.2387 \/
0.3720
o870 - [oo00] C T Tooms]
[ Toool«——————
1.6540 00030 1<




16

( 11 ) 27 47
46 52 m/ 11 m*/ 10 12 m/
303 m*/ 261 m¥/
2 m3/
11 27
47 46 52
52 54
11 10 12
11 11
303 261
( ) 361 317 325
<365
400
350 '\\
~ 300 A—
3 250 \‘ —
_ 200 :
150 ——
100
50 —————®&—— —=
0 2 g
11 27
16
3



28

46 3
7 12.11 m¥/s
3 837km?

46 33.86 21.56 12.26 3.50
47

48 30.12 13.94 7.36 2.38

49 35.95 21.72 11.90 2.80
50

51 36.66 25.03 19.18 8.48
52
53

54 29.80 17.03 8.95 2.24

55 43.32 24.34 15.83 9.78

56 36.76 20.86 12.92 5.31
57

58 28.80 17.23 10.36 3.91

59 29.60 14.82 6.74 3.32

60 41.98 16.14 9.50 2.56

61 29.38 12.50 6.95 4.35
62

63 42.91 26.27 17.52 11.42

42.66 25.12 16.33 7.84

2 47.41 26.47 13.42 3.52

3 49.38 30.38 14.09 5.84

4 43.34 24.78 13.34 5.13

5 45.51 28.04 15.96 6.72

6 29.60 13.35 6.43 0.25

7 45.76 23.82 9.79 5.33

8 38.59 23.66 16.09 5.06

9 35.47 22.91 10.88 5.63

10 38.86 24.22 11.81 5.47

1 36.93 21.10 10.71 4.57

12 30.84 19.14 10.00 5.29

13 40.20 26.26 14.00 3.70
14

15 46.13 29.50 15.25 8.14

16 39.53 22.75 14.22 4.17

17 38.35 14.70 7.40 3.84

1/10 H7 H17) 30.84 14.70 7.40 3.70

2/20 S59 H17) 29.60 13.35 6.74 2.56

2/28 S46 H17) 29.38 13.35 6.74 2.24

49.38 30.38 19.18 11.42

S46 28.80 12.50 6.43 0.25

H17 38.13 21.70 12.11 5.02

46

5.02 m¥/s

17



549.3.5

549.3.5

=

et :i‘l . - = ".I“."_“I I._‘} - e T .H-“ H_W "‘H‘-u

£ -i“?': % ‘L: -_. n 2 I'r '-_..- - ek, g =

s e R L L o —— munaas |
3 :.:. - Y o I .; Al

= A S e e 1 ey P




(mg/L)

BOD75%

(mg/L)

BOD75%

(mg/L)

BOD75%

5.0
4.5
4.0
3.5
3.0
2.5
2.0
15
1.0
0.5
0.0

25

2.0

1.5

1.0

0.5

0.0

25

2.0

15

1.0

0.5

0.0

1.0mg/L

0.5 1.5mg/1
—h—
—
B 3mg/L .

S58 S§59 S60 S61 S62 S63 H

H2 H3 H4 H5 H6 H7 H8 H9 H10 H11l H12 H13 H14 H15 H16

A 2ma/l

S58 S59 S60 S61 S62 S63 H

H2 H3 H4 H5 H6 H7 H8 H9 H10 H1l H12 H13 H14 H15 H16

S58 S59 S60 S61 S62 S63 H

H2 H3 H4 H5 H6 H7 H8 H9 H10 H11 H12 H13 H14 H15 H16

(BOD75% )




"¢1°9TH

"0T"9TH

"879TH

“L79TH

"G 9TH

“€T9TH

“¢79TH

"CT7GTH

"0T"STH

“6°9TH

“L7GTH

"G GTH

"v°STH

“¢TSTH

"T°GTH

16

15

)

—=—BOD(

2.5

«
(1/6w)aog

“CTTOTH

“OT 9TH

"8°9TH

"L79TH

"GT9TH

"€79TH

"¢"9TH

“CTSTH

“O0T"GTH

“6°9TH

"L7STH

"G GTH

"v°STH

“¢T9TH

“T°GTH

16

15

10



5 6
2.90m*/s
5 6 1.44m%/s
10 11
5 6 1.62m%/s
10 11
1 3
2.90m*/s
7 8
2.90m*/s

1 9
1 3 4 12 2
11
1 3 1.26m%/s 4 2.90m*/s
3.08m/s 7 8 3.01m*/s 9
10 11 2.90m*/s 12 2.90m*/s
1 3 1.26m%/s 4 1.26m*/s
7 8 1.37m%/s 9 1.26m*/s
1.26m*/s 12 1.26m*/s
1 3 1.44m%/s 4 1.44m*/s
7 8 1.55m%/s 9 1.44m%/s
1.44m%/s 12 1.44m%/s
1.44m%/s 4
5 6 3.08m*/s
3.01m*/s 9
10 11 2.90m*/s 12
2.90m*/s 1 3
12 3m¥/s
1 3 m/s 4 12 m¥/s

11



837km?

mé/s
1.00 1.26
1.00 1.26
0,
1.18 1.44 BOD75%

12




837km?

mé/s
2.64 2.90
1.00 1.26
0,
1.18 1.44 BOD75%

13




837km?

mé/s
2.64 3.08
1.00 1.44
0,
1.18 1.62 BOD75%

14




837km?

mé/s
2.64 3.01
1.00 1.37
0,
1.18 1.55 BOD75%

15




837km?

mé/s
2.64 2.90
1.00 1.26
0,
1.18 1.44 BOD75%

16




10 10 11
837km?
mé/s
2.64 2.90
1.00 1.26
0,
1.18 1.44 BOD75%

17




11

837km?

12

mé/s
2.64 2.90
1.00 1.26
0,
1.18 1.44 BOD75%

18




7/1 8/31

9/1 9/30
30cm
2.64m%/s
30cm
2.64m%/s
30cm
2.64m%/s

20cm

1.08m%/s

7/1 8/31

9/1 9/30

(10/1 11/30)

(12/1 12/31)

15¢cm
0.04m%/s

(5/1 5/31)

1.00m¥/s

0.09m%/s

(171 3/31)

(4/1 4/30)
30cm
2.64m%/s (5/1 6/30)
30cm
2.64m*/s

(10/1 11/30)

(12/1 12/31)

(171 3/31)
(471 4/30) (5/1 6/30)
30cm
3.07m¥/s (671 6/30)
30cm
1.22m%/s
30cm
3.07m*/s
30cm
1.22m%/s
20cm
1.08m*/s
(/71 1/31)
(2/1 3/31)
(4/1 4/30)
30cm

19



0.25m%/s

(671 6/30) 30cm/s
0.21m%/s
7/1 8/31 20cm
0.09m*/s
9/1 9/30 (10/1 11/30)
60cm
1.72m%/s (12/1 12/31)
15cm
0.04m*/s
1.00m*/s
0.92m*/s
0.71m%/s
(H8.1)
BOD75% 2
1.18m%/s
1.18m%/s
0.09m*/s
17_2km
17.2km
20.4km
19km

20



10

11

21



A

@

1 I ¥ 1
HEHMNEERSDDO QO

T

PN OB OM B G ERXNH R ENEELNSNA TN NEETEEN L0 NS EaDE

T

o § =
an il B e |
r.._“ﬂ!__ﬁ
=4 =
=
- i
ool = Dk
- s T
= 1 il
1 T
l_,ml_“““w 1‘. :.-.
S e ™= b
] m -
o
L ] - .
ME-H__ T
- i
ok B -
GG EEE ==
BEREE ey EAEE
T o
T ] T
-
e T L T ]
- = Baar
e 1
Hiaw ==
e

L ERE BB RRT

e T T

1 e
- e

]

-
- i f
pad” 1 1
T
)
-
e R L

RS [T

mef W Mam
-

—

By mmmemsi
Ly mmmm

T T

|
S mm.

0.71

118

1
L
o

11 71
10 +

[s/7ew]

MO OMOANAO

22

60

50

40

[km]

30

20

10

0.71

3.07

2.64

11 T
10 +

[s7ew]

OMN~OW T MmN A

60

50

40

[km]

30

20

10

1/4



X4

Kb sl

1 I T | 1 1 I 1 ¥ 1
l?1iIBII|'|!13|41EII'|ITIBI'INJIHﬂﬂﬂi’ﬁ.ﬂﬂamh#nﬂllﬂnﬁﬂilﬂﬂﬂﬁﬂﬂiﬂ‘Mﬂ'ﬁlﬂﬁwﬁi’lmﬂﬁ'ﬂﬁiﬂﬁ%
| |

[m3/s]

g i Fr 3 4 5 4
b B o B 1 i
: !‘ .|-.1' 1 N - l: . .H 5 3 - " !-I
. F I-‘ - ] L l_:l ':'1..'!.. i B Az 1 N . EN ETE:‘ g BN B A ':J [
| " s 8 ANRT N A A I omI: W EF § B0
| s | 11 | 4 4+ & | 4 4 1l 43 Iy He o 33 3 ¢ 3l
il L4 |
H 5 |
s - ki L 2 H - = I =ik == t = % y :
e (e <t T - T O I A B A
W H p R B 1 ] f H B : iR & E o +i E: W Bieks =l 1
' gwd M s e s B 1 i B | T ' M all Ea iy Eieg; NpEliB i
AiE *E LE] '] ] g g 2.z ] i i = T TR L] ]
i ' i i i i1 § HED i i Tl iAEAy OEM 3
n I X Iz 1 TEN - I I3-I3 IIIs REEL I
5 6
11 T
10 + | | e
g T | J
8 T m — ]
7 T — —
6 +
5 + o o
4 1 3.07 A (]
3 4 2.64 o
2 + B .
0@ =) 0.71
1+ A & Al
S e P e T PP SN 7 P
0 10 20 30 [km] 40 50 60
7 8
11 T
10 + | | |

OFRPNWMOUIUIO NO©O©
1 i —
L) LI
N
(=]
SN
-
.|




= m T -
L p
L] p
Y e e
F Y i 1
B Emmm .
S
Bt = |
] nmm i 1 _ o e
= w.:.d!.".T ! ¢ e E
4 - o
-= pPEEEN +3 +
B - ) J N
I~ N ™
= Than N J i 1
I - A— . Av.A—
= o o <
s CEEEHS | |
L i o4
j— | a |
o, p
=] p
B e - ta 4
EET |
&
A O 9
Iw HEw =i Avnl o Av-l
o n
B i o ammms 1
.Hﬂh.. u e
R ..u..r.._. g
oot B
- - st A
- uvu..n...... I Wi - Ao — IAAM
& 0 7
! o3 . e a N .h
= - e 4 1
9 - — . [m] ) a g
A Ly mmmems
= { p
= - +4+ © T
o o =4
L] CET e [m] L 5]
b B
-R BT — g - 1
= - =
N
" [ S =y NI |
" — ol ] - i
—
(=] £
e | 1 &
L s =T ]
= é-
W el 4
e .
= CTT 1 o 4
s e nom 3
L] | i
1] J 4
= B¢ up.
" 1 8 | 7] |
L R 3 A 3
) - o~ i o
B ] - EEnw
Lo s 1
= & & ) f &
) 4 O -+
N
= S e - L
= -
=
i p— 1 ]
- 1 1T
b —
e p
=] } p
= = | [op} E
= pap— o
o E —
| = d o 4
—
- - — e p
bt -
- e LT 1 ]
- -
e == ]
-
2 . —_— m.ln_.. ]
- —_ PR YT YT T SR T S W W 1 ORI T W W SR WA T N 1
ET T ] T o L s S S S S S S B a
HOOOOM~MOWL T MNAO HOO0OOM~NOLSMANAO
— —

[s/7ew] [s/ew]

24

60

50

40
3/4

30 [km]

10

20

10



5
-
1.‘.“
=

[=-1 i3

Rt L olh
C T

l..nﬂlnl.lv_

60

0.71

50

40
4/4

1.18

[km]

30

11

2.64

20

10

11 T
10 +



(m3/s)

(m3/s)

(m3/s)

(m3/s)

(m3/s)

8 (199 )

10

9

: =
7

6

5

4 3

3 29m°/s

2 1.4m*/s

1

0

9 (1997 )

10

: W

8 T ‘1

7

6 L

5

4 3 3 3

3 2.9m’/s 3.1m/s 2.9m*/s

2

1

0

10 (1998 )

10

9

8

7

6

5

g 29m%/s 3.1m*/s

2 1.4m*/s

1

0

1 2 3 4 5 6 7 8 9 10 11 12
11 (1999 )

10

o |

a \

7 |

6

5

4 3

3 29m°/s

2 1.4m*/s

1

0

1 2 3 4 5 6 7 8 9 10 11 12
12 (2000 )

10

9

8

7

6

5

; 20m¥/s 34m*/s

2

1

0
1 2 3 4 5 6 7 8 9 10 11 12

1/1 3/31 4/1 4730 5/1 6/30 7/1 8/31 9/1 9/30 10/1 11/31  12/1 12/31

P 1.4m3/s o g 2-9m3/g 3.1m3/s .~ 3.0m3/s - 2.9m3/s >
Y F F N LY 7

12 ( H8 12)



(m3/s)

(m3/s)

(m3/s)

(m3/s)

(m3/s)

13 (2001 )

10
: :
: B
7
e !
5
4 3.0m? ! ‘ g
3 .0m*/s 2.9m’/s
2 1.4m*/s
1
0
1 2 3 4 5 6 7 8 9 10 11 12
14 (2002 )
10
9
8
7
6
5
4
3
2
1
0
15 (2003 )
10
9
8
7
6
5
4 o 3 3
3 29m*/s 31m'/s 3.0m*/s
2 1.4m%/s
1
0
1 2 3 4 5 6 7 8 9 10 11 12
16 (2004 )
10
9
8
7
6
5
4 .
3 29m*/s | ‘ 29m%/s
2
1
0
17 (2005 )
10
9
8
7
: '
s L
g 20m¥/s 3im¥/s ~ U1 !!
2
1
0
1 2 3 4 5 6 7 8 9 10 11 12
1/1 3/31 4/1 4/30 5/1 6/30 7/1 8/31 9/1 9/30 10/1 11/31 12/1 12/31
< 1.4m3/s ><2.9m3/5;< 3.1m3/s >< 3.0m3/s >< 2.9m3/s >

13 ( H13 17)






